Secadora W.W. CER3600AS1

AUtOriz do
e SV

idor

D\Smbuldo
1 4
SurtzRap
Venta de Refacciones
Electrodomesticas




Secadora W.W. CER3600AS1

Guia N.P. Descripcion
2 131168200 |Laundry appliance screw, #8-18 x 31/100-in
4 131785200 |Dryer power cord access bracket
5 530281019 |Dryer grounding ball
6 5303281020 | Dryer rear bearing clip
9 131793201 |Toe grille
11 |5303211428 | Dryer terminal block cover
12 | 131825900 |Dryer drum bearing
13 | 131724300 |Dryer drum bearing bracket
14 |131205400 |Washer screw
15 | 131553900 |Dryer heating element assembly
17 3204254 Dryer heater baffle
18 [131168200 |Laundry appliance screw, #8-18 x 31/100-in
19 131205300 |Washer screw
20 |131469100 |Dryer top panel hinge bracket
21 |134122532 |Dryer drum
24 |131963900 |Dryer drum front glide
25 | 5303015671 | Screw
29 |131382300 |Dryer drum baffle screw
30 |5303201200 | Dryer drum baffle
32 |131777700 |Dryer shaft assembly
33 | 3204267 Dryer high-limit thermostat
34 |131243700 |Refrigeration appliance screw
35 131892100 | Dryer screw, #6-20 x 0.23-in
36 134120900 | Dryer screw, #6-20 x 0.23-in
42 1131209600 |Laundry appliance screw, #8-18 x 11/25-in
44 | 134158000 |Freezer leveling leg
51 |131472100 |Dryer heating coil insulator




Secadora W.W. CER3600AS1

Guia N.P. Descripcion
52 | 134101400 |Dryer terminal block
52A | 3202786 Dryer heating element terminal block
64 | 131704600 |Dryer toe panelclip
NI 5303281153 | Dryer drum bearing kit
NI 5303307893 | Dryer high-temperature lubricant




D\stribuidor Autor %
ey )
Surle“ﬂll

Venta de Refacciones
Electrodomesticas

Secadora W.W. CER3600AS1




Secadora W.W. CER3600AS1

Guia N.P. Descripcion
1 134063300 |Dryer air duct seal
2 131397000 | Dryer cabinet hole plug (white)
6 131621900 |Dryer lint chute assembly
8 131622202 |Dryer lint screen cover
9 131633200 | Dryer cabinet hole plug (white)
16 131063700 |Dryer clip
20 |134036400 |Dryer drum felt seal, upper
21 134134700 |Dryer drum felt seal, lower
22 131845912 |Panel
25 |131658800 |Dryer door catch
26 | 131843100 |Dryer door switch
27 131450300 |Dryer lint screen
28 |5303281074 | Dryer cabinet clip
41 |131627500 |Dryer door hinge
42 1131209600 |Laundry appliance screw, #8-18 x 11/25-in
44 1131129900 |Dryer door seal
46 | 131644700 |Dryer door handle (white)
47 1131844104 |Wh indr pnl
48 |131789303 |Dryer door outer panel
49 5303211430 | Washer door strike
50 |131303300 |Washer baffle screw




D\stribuidor Autoriz o
, | Secadora W.W. CER3600AS1
SIII‘anaII i ecadora W.W.

Venta de Refacciones
Electrodomesticas




Secadora W.W. CER3600AS1

Guia N.P. Descripcion
1 5303297177 | Dryer timer
3 131122611 | Cover-whte
4 131141105 |Laundry center control knob
6 131122601 |Cover-whte-f
7 3205821 Dryer top panel clip
9 134088700 |Backpanel,co
10 [131469000 |Dryer push-to-start switch
14 13205243 Resistor
15 [134904500 |Laundry appliance cycle selector switch
16 5303283289 | Screw
17 131728900 |Control bracket
18 134155300 |Trim plate
20 |131122711 |Dryer control panel end cap, left
21 | 134011703 |Dryer control knob
23 134109500 |Dryer wire harness
24 |131111501 | Laundry appliance start button (white)
25 | 5303015671 | Screw
27 |131197000 |Laundry appliance clip
31 |131122701 |End cap, right
38 |5303210285 | Buzzer
39 131243700 |Refrigeration appli
45 1131205100 |Washer screw
53 |134086802 |Dryer panel
56 | 131243800 |Laundry appliance screw, #8-32 x 3/8-in




D\stribuidor Autor %
ey )
Surlenﬂll

Venta de Refacciones
Electrodomesticas

Secadora W.W. CER3600AS1




Secadora W.W. CER3600AS1

Guia N.P. Descripcion
4 131435200 |Dryer motor clamp
7 131451600 |Dryer exhaust duct
10 |131775600 |Dryer blower wheel and housing assembly
11 [ 131749800 |Dryer idler arm spacer
15 131298300 |Dryer operating thermostat
20 |131017900 |Screw
22 | 131601000 |Dryer idler spring
23 | 131863000 |Dryer idler assembly
25 1134163400 |Dryer drum belt
27 |131419800 |Dryer motor clamp
28 131560100 | Dryer drive motor
34 131243700 |Refrigeration appliance screw
46 131601100 |Motor bracket
47 1131633300 |Dryer exhaust duct seal
48 131168200 |Laundry appliance screw, #8-18 x 31/100-in
52 | 131303100 |Laundry appliance screw, #10-16 x 5/8-in




